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TIME ALLOWED: 1.45 Hours SUBJECTIVE @l 145 = =
MAXIMUM MARKS: 48 | a8 = A4S

NOTE: Write same question number .q.&»uﬁq.{.airﬁg,{ Zp;:/:‘;z»l/-.}dlﬂﬁ:{géfqm )

and its part number on answer book, as given in the question paper.
SECTION-l sl

2. Attempt any five parts. 10=2x5 .ﬁ;fauﬁélzrég;‘}f ..2/.“U1r'
(i) What is meant by gaseous exchange? ?Ia:i/l_fc_,btfﬁur*f (i)
(ii) Describe the function of nasal cavity. -q/ugf‘e’a:fd'fi (ii)
(i) What is meant by double pneumonia? el b b (i)
(iv)  What is meant by Thermoregulation? ?%Jyg;ﬁfm/? (iv)
(v)  Describe the causes of kidney stones. ,q/ug.:,yﬁ,tfdﬁ:&.;f (v)
(vi)  What are co-ordinators? CialiFSUY i)
(vii)  What is meant by nodes of ranvier? L LT (Vi)
(vii)  Describe the functions of spinal cord. _u_’fungf[.L(ﬁ; (viii)
3. Attempt any five parts. 10=2x5 -éfi@bfg‘f“:lziég;d}( _3/.2dlr
()  Define Osteocytes. SABIS )
(i) Define Joint. Write names of its major types. -qf?‘téruldiu(dbs'é{-é/"’wﬁ’ﬁ (i)
(i) Define binary fission and give one example. S JeLiaE S A5 BA i)
(iv)  Define cloning. » -:dé’-{J/-JJfK (iv)
(vi  Define homozygous and heterozygous genotype. _g{ - ,;d/..;.f L‘i:‘-’J-GU: Y u’-ﬁlur:z (v)
(viy  Define transcription. -éq/{fﬁﬁlj (vi)
(vi)  Write down the names of nitrogenous bases of DNA. -_&?ﬂtzﬁ A AL s (vil)
(viii) Define Mendel's Law of Segregation. o A8 SEL T, v Jar (i)
4. Attempt any five parts. 10=2x5 -Eife2linbie 8 4y
(i) Define ecosystem. ~r‘—rul~—=’f’d/f/1(‘ (i)
(i) ~ What is meant by pyramid of numbers? Sl e AT Tz (i)
(i) What is meant by assimilation in nitrogen cycle? ?gjyg;uydf!uffl/u’%ﬁt (iii)
(iv)  Why should we reduce the use of natural resources? ?q,_gt/u:fdv?f/r‘fw&ﬁuﬁ‘? (iv)
(v)  Write uses of glycerol. ey WLy (v)
(vi)  Write definition of fermentation with reference to biotechnology. -qu u-éf/‘?d/w"'-'%:’cu“iétﬁ:’@?f Lo (vi)
(vi)  What is meant by medicinal drug? ‘-"LJ'/LJ::.J»U-i (vii)
(viil)  What are broad spectrum and narrow spectrum antibiotics? 1+1 ?u_.?guff Q@IJ"{»J»!J"{@G (viii)
SECTION-II (222
NOTE: Attempt any two questions. 18=9x2 -Z izl eledy _of
5.(A) Describe the osmoregulatory function of kidney. 5 _E SRS (s
(B) Whatis Cartilage? Describe its three types. 1+3=4 _guy(uluf&ﬂ ‘-’r,-l!éﬁw ()
6.(A) Write a complete note on forebrain. 5 -u:”g_uij‘( (forebrain) oy c.? ()6
(B) Write a complete note on budding. 4 u"g...:",)‘:f» (<)
7.(A) Describe the objectives of genetic engineering. 5 -ufub,wwé..f/’.@’ (-7

(B) Describe drug addiction and its associated problems in detail. 4 -/ ke S floioe Jtekfels (L)
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NUMBER: 3461 SSC PART-Il (10th CLASS)

BIOLOGY  GROUPH by - s/ GBI
TIME ALLOWED: 15 Minutes OBJECTIVE (%o e 15 = &y
MAXIMUM MARKS: 12 12= AF

S oF L,ﬂtﬂﬂﬁh’?&w&v&yxx;gﬁ u:jbéé..:é‘_trﬁwr,qdb’dlﬁ -u_?é'_'{_.: D sl C B A a&lf.;fﬁrgﬁdlrﬁ -
424Vl _.Ifé_igL:ui‘}/f [jfu::wr‘lfé.f.ué J':J:.?b ..fx;ﬂﬂ.rlﬁmﬁgﬁaﬁ’d’ 4_12 Sk ! Z_;.éfu:}buy;,_g 223
Note: you have four choices for each objective type question as A, B, C and D. The choice _Q):'rd'?:fcamr‘
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) In aerobic respiration ______is used. e Bt e (1)
(A) Nitrogen /4t (B) Oxygen wf{ T (C) Hydrogen ¢/, (D) Carbon ¢£/§

(2) Which organ is protected by last two ribs in man? Ao T Uk Tt ()
(A) Stomach s (B) Heart J; (C) Liver )f (D) Kidney n))}

(3) Which separates middle ear from the inner ear? fon. O a et 6 Barird i Qs (3)
(A) Oval window (4 (8s% (B) Malleus (=~ (C) Incus /1 (D) Stapes ¥

(4) Babies are born with about _______ soft bones. _u_?cjnugér/' _[_ﬁ/ﬁui‘uf?ugi_ﬁtg.é;.rz (4)
(A) 300 (B)~310 (C): 320 (D) 330

(5) Yeast reproduces asexually by: -1.3)%§-i3ﬂdi'/51-;dicf;’g¢-'u¢-b*:’- (5

{A) Binary fission uﬁ"dk/g (B) Fragmentation ,iuii& s (C) Budding jjy (D) Spore formation 4.~

(6) Inside testes, where sperms are produced? - ul&pﬂéﬁ (6)
(A) Vas deferens L #3Us (B) Sperm duct 3¢z
(C) Collecting ducts ™3 AL (D) Seminiferous tubules My k5~

(7) When James Watson and Francis Crick proposed WSS DNA LA )

the structure of DNA model?

(A) U2 #1950 AD (B) o #1953 AD (C) #1956 AD (D) J* 1959 AD
(8) In artificial selection, the bred animals are known as: SR WS Pl (8)
(A) Breeds il (B} Vector /‘-.(s (C) Cultivars Jﬂ;u% (D) Herbivores Jusd 1

(9) Which one of the following is the abiotic component of the ecosystem? ?:‘:.chrgzjfgmfffngfa.gﬁdjﬁu (9)

(A) Producers J-yisy (B) Herbivores qu’ s (C)Water dL (D) Carnivores JJ»&JK

(10) Which one of the following plant is parasite? e A pbigde tits  (10)
(A) Pitcher plant di{j«v (B) Sundew #i.r (C) Venus flytrap %/'JLUJ}': (D) Cuscuta L*,:-’:f

(11) When was the complete map of human genome published? ?iﬁécJﬂfKrgéwuf (11)
(A) % +2000 AD (B) U +2002 AD (C) * +2004 AD (D) U +2006 AD

(12) Which one of the following is not an addictive drug? e o fsie Sits  (12)
(A) Sedatives s i~ (B) Morphine 2/ (C) Codeine ¢/ (D) Tetracycline o54u1 2
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OLOGY  GROUP-| by - s/ GIEL

OBJECTIVE (§37e

-

Lo 15 = o

MAXIMUM MARKS: 12 12= AF
Ao\ I3l rerne Jt uhEése vl vy Q017 <L E D C B A ezl Ly w2
{24Vl _(L(gh:;ﬁff,‘:afgﬁa/ﬂd/ip/:‘f.é fg:l;jb _{m:‘.]wyiﬁuﬂuf:«.wg!i_/z Jox | L.f,;‘fu;jrmg;;._ﬁ s

Note: you have four choices for each objective type question as A, B, C and D. The choice _qj::d'?:;.:.Uir

TIME ALLOWED: 15 Minutes

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

1 Ay

(1) Babies are born with about soft bones. e Lol (1)
(A) 300 (B) 310 (C)y 320 (D) 330

(2) Yeast reproduces asexually by: -ﬁ'J%s_’-&ﬁffJ‘sgde;;}e'u: ek (2)
(A) Binary fission ¢*{~L  (B) Fragmentation iuiids,s  (C) Budding £4 (D) Spore formation s~

(3) Inside testes, where sperms are produced? ?u:??..-”_-ulfgf'f/{zﬂcf-ﬂ (3)
(A) Vas deferens ._ftﬁsgls (B) Sperm duct &3¢
(C) Collecting ducts J“jh.fity (D) Seminiferous tubules i:;:a'gjja’u‘:

(4) When James Watson and Francis Crick proposed WS Sik=sd DNA LS e ()

the structure of DNA model?

(A) Ut #1950 AD (B) L% +1953 AD (C) & +1956 AD (D) J +1959 AD

(5) In artificial selection, the bred animals are known as: S SN IV S P IT [N e 1208 fo (5)
(A) Breeds 4. (B) Vector A (C) Cultivars 556" (D) Herbivores Juss( 2

(6) Which one of the following is the abiotic component of the ecosystem? ?gé_.v.;;j;z.f;f be! {r""}f e S 30 (6)
(A) Producers Jyiss " (B) Herbivores s s (C) Water u’L (D) Carnivores s

(7) Which one of the following plant is parasite? ‘.‘;..:%w/gb;vw&.u:‘j;aﬂ (7)
{A) Pitcher plant &i}_,,,fv (B) Sundew iy (C) Venus flytrap .5.;};,{>U3u"=: {D) Cuscuta L‘z‘:'r

(8) When was the complete map of human genome published? ?lﬁi‘;t‘r?fﬁw’b’f}:-’ﬁuul (8)
(A) & #2000 AD (B) U= #2002 AD (C) & +2004 AD (D) ~ +2006 AD

(9) Which one of the following is not an addictive drug? ‘e u':"?!su:i'.'ﬁ..{hfuf:_,uﬂ St (9)
{A) Sedatives Jx.i- (B) Morphine L-ﬁ;xi, (C) Codeine c,._"if (D) Tetracycline ;L“'{f/t«l ):.’

(10) In aerobic respiration _______ is used, u%éﬁd[.‘:’iufﬁﬁJ\_«(Jh’._f {(10)
(A) Nitrogen o7 (B) Oxygen o= (C) Hydrogen /.44 (D) Carbon wif

11} Which organ is protected by last two ribs in man? ot Jfgwd,uerL%!)JjTJdU' (11)
{A) Stomach e~ (B) Heart ;Jg (C) Liver 5 (D) Kidney u,f

(12) Which separates middle ear from the inner ear? ‘-’.f_c:‘vﬁﬁ.“ufc,us“&uﬂfe{&w {12)

(A) Oval window 42 (B) Malleus 2"

{C) Incus J”; {D) Stapes u*&j"
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|PAPER CODE 2022 (A) /7 A
NUMBER: 3465 SSC PART-Il (10th CLASS)
OLOGY  GROUP- by -t G

TIME ALLOWED: 15 Minutes 216 = &b

MAXIMUM MARKS: 12 12= AF

A | ):U:/'b:ck?&lhfévlﬁw»c:-uﬂ u:.?béé.:&bﬁdlfﬁ{(éﬂ}b? ..uj'ézc:..) D sl C B A a&Lﬁ;@Lvédlrx -y
La4dr ) Ko eSSl Sty Mo i eSS Sk | LSO tmlie k] 82
Note: you have four choices for each objective type question as A, B, C and D. The choice ,,q/.-,d’?}:,my—

OBJECTIVE (%o

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this shest of OBJECTIVE PAPER.
Q.No.1

(1) When James Watson and Francis Crick proposed

A Ay

B Us=30d DNA J....ffu'jl)mu—jj,;ﬁ (N

the structure of DNA model?
(A) L1950 AD

(B) U* +1953 AD (C) * +1956 AD

Y T N Y S S PR O R 210 Lo

(D) U= #1959 AD
in artificial selection, the bred animals are known as: (2)
(C) Cultivars jﬂ;f

e Lbuh 2 R Adits (3)

(A) Breeds i (B) Vector A (D) Herbivores sz

Which one of the following is the abiotic component of the ecosystem?

(A) Producers Jyyisg {B) Herbivores );m,},q () Water L}.L, (D) Carnivores )m&;(

Which one of the following plant is parasite? Yo Lzﬁb{b@;&.gii%u

(A) Pitcher plant 414 % (B).Sundew. 23 (G). Venus fiytaps< /0% (D) Cuscuta tx7

(5) When was the complete map of human genome published? Tlﬁévgﬁﬁ&‘%ﬁfiuu'

(A) % +2000 AD (B) % ,2002 AD (C) U*»2004 AD (D) U +2006 AD

(6) Which one of the following is not an addictive drug? ?‘c_ui‘;lswf""uﬂuufa.u: J”;‘Z'/JJ (6)
(A) Sedatives Jx.i- (B) Morphine u'é;L (C) Codeine c)j:‘f (D) Tetracycline ‘,r‘f ! /’f

{7} In aerobic respiration is used. _.—‘-_éndlﬁflui".;ﬁf.;.»@z__l (7)
(A) Nitrogen /%4t (B) Oxygen f»r T (C) Hydrogen ¢/, (D) Carbon /€

(8) Which organ is protected by last two ribs in man? St e T Uk TS (8)
(A) Stomach s (B) Heart s (C) Liver % (D) Kidney ./

(9) Which separates middle ear from the inner ear? B &ﬁﬁw&u( &uﬁquGL/u (9)
(A) Oval window (¥ (§s% (B) Malieus =% (C) Incus 5 (D) Stapes Ut~

(10) Babies are born with about soft bones. _.qg&ﬁug,;(j _ tb;ﬁuful?u:?é'_ﬂ@;é_?a (10)
(A) 300 (B) 310 (C) 320 (D) 330

(11) Yeast reproduces asexually by: -:.:uj_u;_(:in' f 3:{&;)';—?3_.1‘& L (11)
(A) Binary fission fd/:L (B) Fragmentation ;auiis 6 (C) Budding £% (D) Spore formation ti.s-

(12) Inside testes, where sperms are produced? ?u_x’Z",-ulA},;‘mL /c*’f (12)

(A) Vas deferens /25U

(C) Collecting ducts L

26(0bj)( T Y IK)-2022(A)-40000

(B) Sperm duct .tfjr/;”

(D) Seminiferous tubules Az kU™
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BIOLOGY  GROUP- by -/ GBI
TIME ALLOWED: 15 Minutes OBJECTIVE (> 215 = s
MAXIMUM MARKS: 12 12= AF

S b I3 QL terna b E & s L vy 687 - L L D 1 C B A izl S
{4V -b’Z.IgL:Uf/',“J[(ﬁ-&J‘JL[J.& :(J.u‘"b _(m:‘?w..'-[ﬁu:.(iuﬁ:w/d’d'_)z Jok § L/%s?lm&)c.ug )
Note: you have four choices for each objective type question as A, B, C and D. The choice ..qfﬁ-«d’ﬂ;.-amr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Which one of the following plant is parasite? fe s L«i/:fl;gl/uf;u:d_’j&u (1)
(A) Pitcher plant .*.ru;/? (B) Sundew #3¢r (C) Venus flytrap %}Jlﬁu“;s (D) Cuscuta H;:f/
(2) When was the complete map of human genome published? ?l:fchﬁ._f.iﬁJ‘: S’(ﬂ‘-’zﬁuuf (2)
(A) = 2000 AD (B) & +2002 AD (C) U~ +2004 AD (D) = +2006 AD

{3} Which one of the following is not an addictive drug? ‘e s fSe tdits ()
(A) Sedatives i~ (B) Morphine ué.rl. (C) Codeine g{if (D) Tetracycline L;CQLA):’

(4) In aerobic respiration ______is used. -%Jﬁdp[utﬁ'ﬁng})é_l (4)
(A) Nitrogen 7% £t (BYOxygen o= T (C)Hydrogen P2l (D) Carbon w6

(5) Which organ is protected by last twa ribsiin man? ?@J/&@JQHTTJ{L)_%;:&}TJUUI (5)
(A) Stomach s (B) Heart Us (C) Liver 4 (D) Kidney s/

(6) Which separates middle ear from the inner ear? ?:‘,L“}/:ﬁf‘u;c,ug &uﬂfuf L.}.L,m (6)
(A) Oval window J /‘J/d:% (B) Malleus =~ (C) Incus u’il (D) Stapes u’Eb

(7) Babies are born with about _______ soft bones. sl Jﬁug%r/’ L}Iuﬁull“ujiﬁlﬁéz.._,a (7)
(A) 300 (B) 310 (C) 320 (D) 330

(8) Yeast reproduces asexually by: -:,;u&?(}xﬂ:{dld;g’z__lu:.ug (8)

(A) Binary fission ¢*l{*,  (B) Fragmentation asti&s s (C) Budding % (D) Spore formation tsy

(9) Inside testes, where sperms are produced? Eu;."f_'t.uLff'//p,cIL ,é‘-" (9)
(A) Vas deferens 2 (B) Sperm duct /irz
(C) Collecting ducts ™5 B¢ (D) Seminiferous tubules s k5™

(10) When James Watson and Francis Crick proposed o B SUNE=3-J DNA LJ;Q*‘”})J,.!J‘I: £ (10)

the structure of DNA model?

(A) U= #1950 AD (B) % #1953 AD (C) U= +1956 AD (D) = £1959 AD
(11) In artificial selection, the bred animals are known as: WL i sSSP ue S S (1)
(A) Breeds Ji (B) Vector /-*'fs (C) Cultivars J_le;b’ (D) Herbivores ;J»Q ¥

(12)  Which one of the following is the abiotic component of the ecosystem?  fe s 2 E¥ gav(“i‘ e SSits  (12)

(A) Producers J/3sy (B) Herbivores qu #  (C) Water f}& (D) Carnivores J/”&Jb’
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2022 (A)
SSC PART-l (10th CLASS)

BIgLOGY GROUP-II

TIME ALLOWED: 1.45 Hours

¢

.
S

NOTE: Write same question number -q:.&»&;_{.glr.&gf 6;:&2’;:&:0&@4(}(@& -d
and its part number on answer book, as given in the question paper.
SECTION-l sl
2. Attempt any five parts. 10=2x5 _é,f/.._,uf[_mél,c.df -Z/J!f
(i)  What is double pneumonia? Write the name of its causal bacteria. w’“ 06y 2Ed i b S Wr ks (i)
(i)  Define Lenticels. -b{/':-a’/kﬂfdﬂ (i)
(i)  Write the effects of smoking on teeth. -u:"’d.;«fﬁb;u?bébﬁ?’ (iii)
(V)  What are Hydrophytes plants? Give example. e e e Uiy (V)
(v) Write the causes of kidney stone. -u.f’g.z‘gﬁst/’.’;Juuj (v)
(vi) Define feedback mechanism. - ﬂ.y /;uffy'k{:»ug i (vi)
(vii)  What is Hippocampus? Write its importance. ,uf'g.:fﬁlgful e L_fu';‘:fgr (vii)
(viii)  What is the difference between Reds and Cones? ?%J/'LJU.' S 33 (i)
3. Attempt any five parts. 10=2x5 -g{;fa&m&mégc_ﬂf 2340y
(i) What is the difference between compact bone and spongy bone? *-‘,au“)wf (dé)w{j:r»lux._u_f:‘f (i)
(i) Define joint and write name of its types. -u_"[{'ti('lﬁufu’muf._gf.d/;ﬁlﬁ (i)
(i)  Define binary fission and give an example. e ling /A5 A i
(iv)  Define calyx. —u:/-—.’&'/‘?d/ \f@/ (V)
(v)  Whatis genotype? Write down its types. _u:"f'LilJul S A (V)
(viy  Write down names of nitrogen bases. _.,,f/’}]?’té (Bases) »2//t  (vi)
(viij  Define homologous chromosomes. . :):.a_z’_' /JJ fyfs/ﬂy‘n {vii)
(viii) Define gene. -q/héiﬂ(fg;&f {viii)
4, Attempt any five parts. 10=2x5 -é;fauzﬁlzlél;c.(j/ Y
(i) Name the different levels of ecological organization. _&t&_—_.(?,,._effégﬁf LT (i)
(i)  What are herbivores? Suriusd (ii)
(i)  Define commensalism. SRS i
(ivy  What is meant by ecological pyramid? ?:‘_.:L/*Ja_iiig\ﬁ:’g‘: I (iv)
(v) Give an example how biotechnology is helping ?%g:l};;é_édﬂﬁf@)f_fﬁ’;lﬂfédlﬁpﬁ (v)
for better envircnment?
(vi)  Name the breaking enzyme and joining enzyme. -4({'tiflﬁiLl:LJﬁJslr?lyElLlsi.K (vi)
(vij  What is pharmacology? ?‘L.L_g’/u’.;’ﬂ.)li (vii)
(viii)  Differentiate between broad-spectrum antibiotics and -._:id"/lufu"'f:f@g}i* /"E'-’;/j ] (/’«C:jb: (viii)

narrow-spectrum antibiotics.

SECTION-II ¢

NOTE: Attempt any two questions.

18=9x2

-é{f@}iﬁéaﬂlﬂ)c.(jf oy

5.(A) Explain the steps involved in formation of urine in the kidneys. 2+2+1 _.,f';utac—_ J‘:’U‘"l/ﬁ Bttt u‘u»)ﬁ (-5
(B) Explain antagonism in muscle action 4 -u_'/.vusdr/j Dlu‘fi)/ifJJqudlf;;!u/dL G
selecting biceps and triceps as example.
6.(A) Write a detailed note on Reflex action. 5 ch_«:’&d\.fxwflwm (.6
(B) Explain the process of gametes formation in animals. 4 ..Z:u}unffid.gﬂ’f Ul (&)
7.(A) Describe any five achievements of genetic engineering. 1 x5 _u//ulruLV‘:_pKﬂLa.deJﬂb@" (-7
(B) Describe the resistance in bacteria against antibiotics. 4 _q/ugaf/g,fgwd.u‘g:gd'luﬂg,;& (&)

28-2022(A)-30000 (MULTAN)



PAPER CODE

NUMBER: 3462

OLOGY  GROUPH-II

TIME ALLOWED: 15 Minutes

MAXIMUM MARKS: 12

2022 (A) ” ey
SSC PART-Il (10th CLASS) ?>

(PSS )

OBJECTIVE (' 15 =
12= A

e cf | a3l Nrarne ft UL E s Ly Q6317 - ELls D 51 C B A ARG L g -2)
FEI® V) *B'L@L:d/:;(;fuﬂwimfé.ﬁi )‘:J:jl: -&Jﬂﬂkuﬁu&wy‘tﬂ_}z oy L{Qﬂ’lu:}bupa.-_ﬁ 2

Note: you have four choices for each objective type question as A, B, C and D. The choice -‘gﬁwfmw

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that qilostion. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) - How many pairs of ribs a human body has? ‘-‘u_u.)zi:.".urﬁui()'&l)f (1)
(A) 2 (B) 10 (C) 5 (D) 12

(2) Percentage of water in human urine is: _?_JUFPM’IJ &gu-‘-’.,a@g'}ul (2)
(A) 70% (B) 75% (C) 90% (D) 95%

(3) The smallest bone in human body is: PRI Y SRS ST )
(A) Stapes Ut~ (B) Malleus ** (©) Incus (D) Thigh bone SASul

(4) Cells of cartilage are called:

(A) Collagen ;yaudsS

G WKLl @)

(B) Chondrocytes Uk~ (CyOsteacytes Ul (D) Tendon iz

(5) Vegetative propagation occur in Bryophyllum by: ?‘L(}rz{_u‘ﬁu" u“-*g':{ 2'35;(}‘.' ;r“G}fL: (5)
(A) Root &2 (B) Stem ¢ (C) Leaves & U5 (D) Seed =&

(6) Whose part is style? fe S (6)
(A) Sepal K~ (B) Petal ¥ (C) Stamen o~ (D) Carpel f8

(7) How many hydrogen bonds are present between adenine ?L,g.?_yui-;cﬁ:ﬁf;i"ypﬁ@éﬁ»ld Si 7

and thymine?

(A) 2 (B) 3 (C) 4 (D) 5

(8) Allele which is not expressed is called: -q-t'lkf f@'ﬂuﬁiwﬂﬂ&' (8)
(A) Dominant &uiiae s (B) Gene /¥ (C) Recessive s~ (D) Locus u’;’

(9) Lionis:

(A) Herbivore ussd 7

(10) All are carnivore plants except:

(A) Sun dew 3

(A) = #1997 AD

(12) Antibiotics are used to kill:

<< O
(B) Carnivore Py 1 (C) Omnivore sss(5 {D) Decomposer JJJ;rd;
Si e sfmber  (10)

(B) Pitcher plant i / (C) Venus fly trap %}Jiﬁgﬁ: (D) Cuscuta ¢y~

(11) When did lan Wilmut produced the sheep Dolly? ?&ngﬁdstMuLT (11)
(B) o +1987 AD (C)  +2002 AD (D) U #1970 AD
_glndel i SRS (12)
(B) Bacteria | (C) Alga ¢ (D) Protozoan JsJshsy

(A) Virus /#1s

28(0bj)( *}-ZDZZ(A)-:’:OOUO (MULTAN)
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12= AF

A | SIm 3l inerne gt e ése v EJrrgdbdin - LEs D i C B A el Ly -9
EIR Y| _B'L@L:uff.}gjfgﬁaxflfm.é ):J:fi: -(mﬂh&,lzuﬁd@ﬂ‘d'l.& Jok L LS stmlien gl 2=

Note: you have four choices for each objective type question as A, B, C and D. The choice -qﬁd’;f,.-.-.mr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) All are carnivore plants except:
(A) Sun dew ¢3¢/

(2) When did lan Wilmut produced the sheep Dolly?
(A) ~ #1997 AD

(3) Antibiotics are used to kill:
(A) Virus (70

(4) How many pairs of ribs a human body has?
(A) 2 (B) 10

(5) Percentage of water in human urine'is:
(A) 70% (B) 75%

(6) The smallest bone in human body is:

~ (A) Stapes ¥~ (B) Malleus <

{7} Cells of cartilage are called:
(A) Collagen ;ausS

(8) Vegetative propagatio.n occur in Bryophyllum by:
(A) Root < 7

(9) Whose part is style?

(A) Sepal &~ (B) Petal ¥

(10) How many hydrogen bonds are present between adenine

and thymine?
(A) 2 (B) 3
(11) Allele which is not expressed is called:
(A) Dominant i g (B) Gene ¥

(12) Lionis:

(A) Herbivore ussd 2

(B) Pitcher plant 41k

(B) = +1987 AD

(B) Bacteria |

(B) Stem

(B) Carnivore mLLK

A Ay

il e ).;’usd.:{b_w

(C) Venus fly trap w</Jti% (D) Cuscuta b7

U A ki
(C) U~ +2002 AD (D) = »1970 AD
el LS S
(C) Alga ¥ (D) Protozoan (sify
e sz Ludit e 3o
(C) 5 (D) 12
e s § St AU
(C) 90% (D) 95%
SPRTIRY PRy b
(C) Incus ._fq (D) Thigh bone u’éd/uu

UL L s <

(B) Chondrocytes U~ Ls.k§  (C) Osteocytes Ul (D) Tendon i

‘-'d"_(}ﬁa_:_ﬂﬂg,/u%‘%{ f'!‘j;uf (cﬁff.c
(D) Seed =&
?gﬂﬁlfvflb

(D) Carpel J,' /8

(C) Leaves = U#%

(C) Stamen =~

?q;elmﬁl,w’-;;;ﬁ.;lrZuw&u:d@;uf.’dy

(C) 4 (D) 5
Y

(C) Recessive 2% (D) Locus J

&
~§-

(C) Omnivore (53l (D) Decomposer mfd 3

28(0bj)( W IX)-2022(A)-30000  (MULTAN)
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Note: you have four choices for each objective type question as A, B, C and D. The choice ..q./f;d’}ﬁmﬂlr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

OBJECTIVE (%o T
12= AF
s

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) How many hydrogen bonds are present between adenine

@)

(4)

(5)

(6)

(8)

and thymine?

(A) 2 (B) 3
Allele which is not expressed is called:

(A) Dominant &uii g (B) Gene /¥
Lion is:

(A) Herbivore s s (B) Carnivore (¥
All are carnivore plants except:

(A) Sun dew 5 (B) Pitcher plant 41k &
When did lan Wilmut produced the sheep Dolly?

(A) % #1997 AD (B) * 1987 AD
Antibiotics are used to kill:

(A) Virus 7 (B) Bacteria | #
How many pairs of ribs a human body has?

(A) 2 (B) 10
Percentage of water in human urine is:

(A) 70% (B) 75%
The smallest bone in human body is:

(A) Stapes u’r.& (B) Malleus J‘I"/

(10) Cells of cartilage are called:

(A) Collagen [jaudsS

(11) Vegetative propagation occur in Bryophyllum by:

(A) Root 2 (B) Stem ¢
(12) Whose part is style?
(A) Sepal &~ (B) Petal ¥

28(0bj)( T I TC)-2022(A)-30000

A A

St L P A endl S S $ 1)
(C) 4 (D) 5
-c"-t'lk'( ftﬂd}ih’g'ﬁﬁ&'
(C) Recessive »™ (D) Locus ¥

=i

(C) Omnivore (53 (D) Decomposer J)){(ﬁ
_2Z.f!'u_’:r'¢_)§.us(3:{-..-«’
(C) Venus fly trap %J&w\ﬂ; (D) Cuscuta t’gc(
e T

(C) % +2002 AD (D) % +1970 AD

el L Af T
(C) Alga (D) Protozoan ¢s.fy
St 2 L it 0
(C) 5 (D) 12
PR AT (8]
(C) 90% (D) 95%
PRUAY SRRy B
(C) Incus (D) Thigh bone $4Jul
S LWLl i

(B) Chondrocytes Skl (C) Osteocytes gkl (D) Tendon i

S e LS P 52 i
(D) Seed &

‘e s
(D) Carpel ¢

(C) Leaves « %

(C) Stamen u‘“&
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S of Lﬁtﬂfbﬁwaﬁ'ﬁylzuzu.d u:ﬁb.‘f.é.:&.bﬁdlrﬁ{(éfdm .-u_‘_!‘fﬂé..v DsICBA .:a&'l.:-ﬁkﬁdlrﬁ -
{24 Kbl R e Sl Lol S st s onld oSS Sk | &S s okl 255

Note: you have four choices for each objective type question as A, B, C and D. The choice -Qﬁd’fﬁ:—ﬂv

which you think is correct, fill that bubbie in front of that guestion number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Cells of cartilage are called:
(A) Collagen ¢yaulsS

(2) Vegetative propagation occur in Bryophyllum by:
(A) Root & 7 (B) Stem ~F

(3) Whose part is style?

(A) Sepal &~ (B) Petal ¥

(4) How many hydrogen bonds are present between adenine

and thymine?
(A) 2 (B) 3
{5) Allele which is not expressed is called:
(A) Dominant iyl (B) Gene ¥
(6) Lionis:
(A) Herbivore s 7
(7) All are carnivore plants except;
(A) Sun dew ¢3¢/
(8) When did lan Wilmut produced the sheep Dolly?
(A) U~ #1997 AD (B) - 1987 AD
(9) Antibiotics are used to kill:
(A) Virus U7 (B) Bacteria | A
(10) How many pairs of ribs a human body has?
(A) 2 (B) 10
(11) Percentage of water in human urine is:
(A) 70% (B) 75%
(12) The smallest bone in human body is:

(A) Stapes u*" '

(B) Malleus <

(B) Carnivore ;»43%

(B) Pitcher plant /i

A Ay

L EL palis S

(B) Chondrocytes u‘l"fl.d-uis’ (C) Osteocytes L,rl‘lq:t:nl (D) Tendon ui;:

tednasL U u’—é:,; 2 r‘sgu,
(D) Seed &
‘-"q_.,d?ﬂ/ JZL

(D) Carpel /¢

(C) Leaves < %

(C) Stamen u“e’
et st E dkﬂé_wflj@:’df 31
(C) 4 (D) 5
-+tuz( e IS S
(C) Recessive »*+ (D) Locus %
¢4
(C) Omnivore u»(§3 (D) Decomposer JJ)'J,/L; 3
-:Llrug:_:;mdjls’q
(C) Venus fly trap << /08U% (D) Cuscuta t&”
T AR
(C) U +2002 AD (D) X #1970 AD
el LA S

(C) Alga €I (D) Protozoan sJsy

Ste 2 E Lt 3
(©) 5 (D) 12
e Mias S Byt B
(C) 90% (D) 95%
PN Y ]
(©) Incus (D) Thigh bone $2Jel

28(0bj)( T T¥)-2022(A)-30000
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